
ALGEBRA II REVIEW PROBLEMS 
(Chapter 4) 

 
 

1. Do/answer the following: 
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 a.  State the dimensions of D    b.  In C, c21 = ? 
  

c. A – B      d. ½ B 
 

e. BA     f. CD 
 
g. Evaluate the determinant of B  h. A -1 
 
i.  Evaluate the determinant of E 
 

 
2. Solve the following: 
 

a.  + X =  b. X =   ⎥
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3. Solve each system by the method indicated: 
 
 a.  Use a matrix equation:  b.  Use Cramer’s Rule: 
 
  2x + 5y = 10     x – 4y = 16 
  x + y = 2     x + 2y = 4 
 
 
 c.  Use augmented matrices: 
 
  3x – 4y = 13 
  2x + y = 5 
 
 
 
 
 



ANSWERS 
 
 
 

1. a. 2 X 3   b. 5   c.     ⎥
⎦
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2. a. X =  b. X = ⎥
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3. a.  =  ---> (0, 2) ⎥
⎦
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 b.  x = 
D
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6
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D
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